English KS1 2016

Year 2 Reading Assessment
Marking Scheme for Paper 1

The Wind and the Sun




Year 2 Reading Assessment Paper 1

question answer marks notes
10. | What were the sun and the wind arguing about?
Content domain: 1d - make inferences from the
text.
who was strongest/stronger 1 i
Award 1 mark for an answer referring to them
arguing over who is strongest.
1. | What did the wind say he could do? Tick one box.
Content domain: 1b - identify and explain key
. aspects of fiction and non-fiction texts, such as
rip up trees 1 characters, events, titles and information.
Award 1 mark for the correct option indicated.
12. | Write one thing the sun said he could do.
e turnice into water Content domain: 1o - identify and explain key
aspects of fiction and non-fiction texts, such as
* warm the earth 1 characters, events, titles and information.
* make plants grow Award 1 mark for any of the answers indicated.
13 Why was the man wearing a thick coat and scarf? Tick one reason that you know from reading the
* | story.
Content domain: 1b - identify and explain key
) aspects of fiction and non-fiction texts, such as
It was snowing. 1 characters, events, titles and information.
Award 1 mark for the correct option indicated.
14. | What did the sun say the wind had to do to prove he was the strongest?
Content domain: 1b - identify and explain key
, aspects of fiction and non-fiction texts, such as
He had to remove the man'’s coat 1 characters, events, titles and information.
from his back.
Award 1 mark for an answer that refers to the
man'’s coat being removed/lost.
15. [ Why did the wind think winning would be easy?
Content domain: 1d - make inferences from the
He thought he could just blow the . text.
man’s coat off. Award 1 mark for an answer that refers to the
wind blowing the man'’s coat off.
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Year 2 Reading Assessment Paper 1 3

16. | What does ‘the trees bowed before his might” mean? Tick one box.

) Content domain: 1d - make inferences from the
The trees were bending over 1 text.

because the wind was so strong. o
Award 1 mark for the correct option indicated.

17. | Why did the wind get angry?

Content domain: 1d - make inferences from the
He could not blow the man’s coat text.

off. Award 1 mark for an answer that refers to the
wind not being able to remove the man’s coat.

18. | Why can’t the wind blow the man’s coat off?

Content domain: 1d - make inferences from the

text.
The man held on to his coat 1 Award 1 mark for an answer that refers to the man
tightly. holding on to his coat.

Do not accept answers that only refer to the wind
giving up or not being able to blow any longer.

19. | Explain how the sun won the competition.

Content domain: 1b - identify and explain key
aspects of fiction and non-fiction texts, such as
The sun won the competition by characters, events, titles and information.
shining down on the man and
making him warmer. Soon he got Up to 2
too warm so he took his coat off
himself. Award 1 mark for an answer that only refers to the
sun warming the man up or the man taking his coat
off.

Award 2 marks for an answer that refers to the
sun getting warm and the man taking his coat off.

Total
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